
Fax Option Type 2238 
(B603) 

 



 

 
 

 

  1.FAX OPTION (B603)............................................   2 

PARTS INDEX ..........................................................   5 

 

Fax Option Type 2238 (B603) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

 

October ,30 ' 2003 



2 

 

 

1.FAX OPTION (B603) 

 



3 

 1 B603 5180  PCB MBU Ass'y 1 

 2 B603 5170  PCB:FCU:Ass'y 1 

 3 B603 5600  Fax Control Unit Bracket Ass'y 1 

 4 B603 5275  Harness - Speaker Connecting 1 

 5 G025 1211  Speaker - GS 1 

 6 B603 5614  Fax Control Unit Panel 1 

 7 G060 5853  Grip - Application 1 

 8 5488 6224  PCB:NCU-FD-U4 1 

 8 5488 6293  PCB NCU-FD-EA3T 1 

 9 B603 5271  Harness - FCU-NCU NA 1 

 9 B603 5272  Harness - FCU-NCU EU 1 

 10 G570 1970  Keytop - Right 1 

 11 B404 3861  SG3 Decal 1 

 12 H511 5007  Stamp 1 

 13 G570 2065  Keytop SW - FAX 1 

 14 H523 5350  Telephone Cable 1 

 15 G570 2069  Keytop Cover - Right 1 

 16 G570 2075  Keytop SW - FAX 1 

 17 B603 8607  Operating Instructions FAX 1 -NA 1 

 17 B603 8657  Operating Instructions FAX 2 -NA 1 

 17 B603 8608  Operating Instructions FAX 1 -AA 1 

 17 B603 8658  Operating Instructions FAX 2 -AA 1 

 101 0360 3006H Screw - M3X6  

 102 1105 0441  Spacer - 8mm  

 103 1105 0508  Harness Clamp - LWS-0711  

 104 1105 0489  Harness Clamp - LWS 1316  

 105 0360 3006B Screw - M3X6  

 106 1105 0026  CK Clamp  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.FAX OPTION (B603) 

Ricoh Technical Services
Item 15
MB 1:
MB 2:

Ricoh Technical Services
Item 17
MB 1:
MB 2:

O'Brien
Item 5
PCIL: March 2009
PCIL: July 2010

O'Brien
PCIL: May 2010
SDRAM



 

 

 

Parts Index 



6 

B603 5170  PCB:FCU:Ass'y   3 -   2 

B603 5180  PCB MBU Ass'y   3 -   1 

B603 5271  Harness - FCU-NCU NA   3 -   9 

B603 5272  Harness - FCU-NCU EU   3 -   9 

B603 5275  Harness - Speaker Connecting   3 -   4 

B603 5600  Fax Control Unit Bracket Ass'y   3 -   3 

B603 5614  Fax Control Unit Panel   3 -   6 

B603 8607  Operating Instructions FAX 1 -NA   3 -  17 

B603 8608  Operating Instructions FAX 1 -AA   3 -  17 

B603 8657  Operating Instructions FAX 2 -NA   3 -  17 

B603 8658  Operating Instructions FAX 2 -AA   3 -  17 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B404 3861  SG3 Decal   3 -  11 

G025 1211  Speaker - GS   3 -   5 

G060 5853  Grip - Application   3 -   7 

G570 1970  Keytop - Right   3 -  10 

G570 2065  Keytop SW - FAX   3 -  13 

G570 2069  Keytop Cover - Right   3 -  15 

G570 2075  Keytop SW - FAX   3 -  16 

H511 5007  Stamp   3 -  12 

H523 5350  Telephone Cable   3 -  14 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



7 

0360 3006B Screw - M3X6   3 -105 

0360 3006H Screw - M3X6   3 -101 

1105 0026  CK Clamp   3 -106 

1105 0441  Spacer - 8mm   3 -102 

1105 0489  Harness Clamp - LWS 1316   3 -104 

1105 0508  Harness Clamp - LWS-0711   3 -103 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5488 6224  PCB:NCU-FD-U4   3 -   8 

5488 6293  PCB NCU-FD-EA3T   3 -   8 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.FAX OPTION (B603) 
	Parts Index 

